SIIMIRE?

ENGINEERING

POXX USER MANUAL V1.0

75 64
75 68
213 213
138 138 5

Version 1.0 last updated 20-09-2023



Sl

M

RE[P

ENGINEERING

Before you start unboxing

We would like to thank you for your purchase. With your purchase, we can keep
developing more awesome Sim Racing products. This user manual will provide
you with the information needed, on how to set up your P9XX Sim Racing Wheel.
If you have any questions, or need help setting up your wheel, please contact
customer support at info@simrep-enginering.com.

About the P9XX Sim Racing Steering Wheel

The P9XX Sim Racing Wheel is non like any other. The P9XX is build modular,
that means we have designed it in a way, that you can easily disassemble the
wheel at home. We have done this for multiple reasons.

e Future upgrades
e Easy repairs
e Adding third party components (like wheel hubs)

We firmly believe in product repairs, instead of buying a new one. The P9XX Sim
Racing Wheel comes with a standard 2 year of warranty. After the warranty has
expired, new replacement parts can be obtained through our customer support.
The customer can choose to install the new parts at home, or ship it to us for
repairs. This will ensure that the P9XX wheel will keep its second hand value, as
worn out or broken parts, due to extensive usage, can easily be replaced.

We hope you will enjoy using the P9XX Sim Racing Wheel. If you do, please
leave a Google Review and tag us on social media!

Google
Instagram

Facebook

TikTok

233


mailto:info@simrep-enginering.com
https://g.page/r/CQu4Z8v0U3djEBI/review
https://www.instagram.com/simrep_engineering
https://www.facebook.com/SimrepEngineering
https://www.tiktok.com/@simrep.engineering

SIMRER

ENGINEERING

Packaging contents

1x Quick Start Guide

1x P9XX Sim Racing Wheel

1x Powered USB2.0 hub with M8 T-slot nuts

1x Power Adapter (Including selected EU, UK, US or AU grounded socket
plug)

1x Paddle Module

1x Coil cable (connects wheel to USB hub)

2x Sheet Button sticker

2x Sheet rotary knob sticker

1x Sheet rotary indicator dome sticker

1x Toolkit (Rotary nut wrench, hex socket wrench metric 1.5mm, 2mm,
2,5mm 3mm, 4mm, 5mm)

1x Microfiber glass cloth

Optional packaging content

1x Fanatec Podium Hub bolt kit containing 6 M5 captive bolts
1x 50mm long wheel hub with 6x M5 threads and a 70mm bolt diameter
1x Paddle Module L+R

A WARNINGS

SEIZURES

This product uses bright LEDs that may potentially trigger seizures for
people with photosensitive epilepsy.

NOT FOR ROAD USE

This product is made for simulation purposed only. Do not use on public
roads.

3|33



SIMRER

ENGINEERING

Table of contents

Inhoud
1. Setting up the wheel MechaniCally .....c..ooiiiiiiiicce e e 5
1.1. Paddle Module position adjUSTMENT .........eeiiiiiiiiieiiee e e e e 5
1.2.  Adjusting Pedal Module height...........oooiiiiiiiecee et 9
1.3, Wheel hub installation ..........ooiiiiiiiieeee ettt 10
1.3.1. Standard wheel hubs (external MOUNTING) .....c.cecceeeiieeecie e 11
1.3.2. Fanatec® Podium Hub (internal mounting) .......ccceecveeevieeicie e 12
2. Connecting the wWheel t0 the COMPULET.......c.uiii i e e e e e 16
3. SOftWAre INSTAllAtioN ..c...ooiiiieeee e 17
0 I T o U o USRI 17
3.1.1. Installing SIMHUD SOFtWAIE c....vveiiieeeece e 18
3.1.2. SIMHUD CONFIGUIAtIoN ..ciiiiiiee e e s bae e e e 20
3.1.3. Loading SIMHUD Profiles ......cuueeiieciieeeeee e e 22
A, POXX FUNCLIONS ..ttt sttt e b e s bt s ae e et e et e e be e sheesaeesatesabeebe e beennes 25
4.1, ReSEt CONTIGUIAtION ...ciiiiiiii ittt et e e s te e e e s bee e e e s bteeeesntaeeesanes 26
4.2, SAVE CONTIGUIALION .oviiiiiiiii ittt e e e et e e e st e e e sbte e e e sbteeeesasteeessstaeeesnnes 26
4.3, CIULCh CaliBration c...ooeieieeieeeee et e e e 27
4.4, SINGIE CIULCN QULPUL ..ottt e e et e e e et e e e e sbteeeeebteeeeebtaeeesntaeaeannes 28
L T TV F- | W [V ol W 1 o 1V SRRt 28
L T [ ol ol oY £ o Yo 1 o Y=Y ] =S PP PRPPPO: 29
4.6.1. Right clutCh Bite POINt......iiiiciieeeee e e e e e e s eaeeas 29
4.6.2. (0] ol [0 o I T < o Yo [ | PP 30
N (o] a1l o) - | 4V o 1V o1 U ) RN 30
O T [ [T o ] =1 VA o 11 o 11 | SRR 31
4.9.  Push BUttON @SSIZNMENT ...ciiiiiiii e e e e et e e e sbee e e e s bre e e e sbaeeeesstaeeesnnes 31
L o] o1 1T g oo ] a1 V- PSR 33

4|33



SIMRER

ENGINEERING

1. Setting up the wheel mechanically

_:Q:_TI P

We advise to wait with the installation of the button stickers, until you have
decided the final position of the buttons. Button caps can also be removed and
replaced at other locations in case the stickers are already applied.

1.1. Paddle Module position adjustment

E:(b 5-10 min
X Tools used in these steps

® 2.5mm Hex socket wrench
e 3.0mm Hex socket wrench

The P9XX comes with the standard Paddle Module top position, where the
clutches are located above the shifters, at the top of the wheel. For personal
preference, the Paddle Module can be exchanged from the left to right, this will
move the clutch below the shifter at the bottom of the wheel.

Top clutch position (standard)

5|33



SIIMRER

ENGINEERI

Bottom clutch position (user preference)

STEP 1: Remove wire cap

Use the 2.5mm hex socket wrench to remove the M3 cap bolts (2x).

Page 6| 33



SIMRER

ENGINEERING

STEP 2: Unplug connectors

Disconnect the left and right Paddle Module connector by pulling the wires
gently.

& WARNING: Pulling the cable to hard can lead to damage.

A

] @
s =
%O@@@O%

STEP 3: Remove Paddle Module

Use the 3mm hex socket wrench to remove the M4 Paddle Module bolts (4X).

7133



SIMRER

ENGINEERING

STEP 4: Installing the Paddle Module at the bottom

Install the paddles upside down from left to right in the designated mounting
holes.

Bottom configuration mounting holes

STEP 5: Connecting the cables and cap

Repeat step 1 and 2 in a reversed order. When connecting the Paddle Module,
it’s important to know, that the left/right Paddle Module PCB’s connector
always powers the Paddle Module that is connected to that specific side,
regardless of its up- or downward position.

O

Page 8 | 33



SIMRER

ENGINEERING

1.2. Adjusting Pedal Module height

O 5-10 min
X Tools used in these steps
® 2.5 mm hex socket wrench

The clutch and shifter brackets can be adjusted to height separately according
to the users preference. Use the 2.5mm hex socket wrench to loosen the
adjustment bolts and move the clutch/shifter bracket in to the desired position
before fastening the bolts again.

Page 9 | 33



SIMRER

ENGINEERING

1.3. Wheel hub installation

The P9XX Sim Racing Wheel can be mounted to various types of wheel hubs.
Most hubs will require mounting from the outside. Some hubs like the Fanatec
Podium Hub requires mounting from the inside.

Wheel Hub connection

@@

©lej

e

©le)

M5x0.8 threads (6x)

& WARNING: When mounting a third party wheel hub, the bolts
connecting the hub to the P9XX Sim Racing Wheel, cannot exceed a length
of 12mm + wheel hub flange thickness. Example: The wheel hub flange has
a thickness of 4mm, the total length of the M5 threads bolt cannot exceed
16mm. Using longer bolts can damage the screen.

Page 10 | 33



SIMRER

ENGINEERING

1.3.1.Standard wheel hubs (external mounting)

E:CD 3-5 min
X Tools used in these steps
® 4 mm hex socket wrench

’ .
X Parts used in these steps

® 6x M5 washer
® 6x M5x16mm hex bolt (with pre-applied Locktite®)

_:Q:-TI P

Check if the hub bolts aren’t coming loose after extensive usage, every once
in a while. This can prevent damage to the wheel and hub.

STEP 1: Mounting the wheel hub from the outside

Place the M5 washer on the M5 bolt (6x). Align the bolt holes of the wheel hub
with the threads on the wheel housing. Screw in the M5 bolts with washer by
hand. Tighten crosswise with the 4 mm hex socket wrench.

Page 11 | 33



SIMRER

ENGINEERING

1.3.2.Fanatec® Podium Hub (internal mounting)

2O 15-20 min
X Tools used in these steps

e 1.5 mm hex socket wrench
2.0 mm hex socket wrench
2.5 mm hex socket wrench
3.0 mm hex socket wrench
4.0 mm hex socket wrench
Rotary nut wrench

’ .
}\ Parts used in these steps

® 6x M5 washer
® 6x M5x16mm captive bolt (with pre-applied Locktite®)

STEP 1: Remove front rotary knobs

Use the 1.5mm hex socket wrench to remove the M3 stud bolts (4x) located at
the bottom of the rotary knobs.

12 | 33



SIMRER

ENGINEERING

STEP 2: Remove rotary nuts

Remove the rotary nuts with the supplied rotary nut wrench (4x).

STEP 3: Remove front glass

A WARNING: Before unscrewing the bolts, make sure to support the glass.
This can be done by holding it by hand, or laying the wheel frontside down on
a flat surface like table with a towel underneath. Improper support or hard
drops can shatter the front glass.

Use the 2.5mm hex wrench to remove the front glass bolts at the back of the
wheel (3x).

ele
O
®
®
O
oJe

-io UOUO

e
O
o
o
@)
©JO]

Page 13| 33



SIMRER

ENGINEERING

STEP 4: Remove front steering plate

_:QETI P

Before removing the front plate, make a picture of the button cap locations
for easy reassembling.

Use the 3mm hex socket wrench to remove the front plate bolts (7x), and gently
pull the front plate up, allowing the button caps to come off.

<

STEP 5: Remove VoCore screen

Use the 3mm hex socket wrench to loosen the top bolts (2x) 3 turns and remove

the lower bolts entirely (2x). Disconnect the screen connector from the main
PCB.

Page 14 | 33



SIMRER

ENGINEERING

STEP 5: Mounting the wheel hub from the inside

A WARNING: Overtightening the bolts can lead to damaged threads.

Use the “P9XX Fanatec Wheel Hub Bolt Kit” for installing the Fanatec Wheel Hub
to the P9XX wheel. Install the bolts including washer by hand, screwing them
from the inside until the threads of the bolt exit the back of the P9XX enclosure.
Place the Fanatec Wheel Hub against the back of the thread ends and screw
them in by hand. Use the 4mm hex socket wrench to tighten the bolts. The bolts
have a pre-applied mid-strength thread locker applied. If the bolts are
disassembled and reassembled, new thread locker needs to be applied. We
advise a medium strength thread locker.

E*H @:@

L (e ] ®
O 0
: W

Page 15 | 33



SIMRER

ENGINEERING

STEP 6: Reassembling the wheel

Reassemble the wheel by following the steps in a reverse order.

'Q\TIP: When reinstalling the button caps, lay them in the right orientation
and gently push down until it snaps. If the caps won’t snap, place a finger on
top and gently rotate the caps until they snap into place.

2. Connecting the wheel to the computer

O 10-15 min
X Tools used in these steps

® 5 mm hex socket wrench
X Parts used in these steps

1x Power adapter
1x Power plug

2x M8 bolt

2x T-slot nut

1x Coil cable

STEP 1: Mount P9XX USB2.0 hub

Mount the P9XX Powered USB 2.0 hub to your rig using the supplied T-slot nuts
and M8 bolts. The T-slot nut can be inserted straight into the aluminum
profiles by turning them 90 degree and snapping them in to place. It’s not
required for your profiles to have open ends.

16 | 33



SIMRER

ENGINEERING

STEP 2: Connect the P9XX USB2.0 hub

Connect the power adapter (3) to the USB hub and connect the power cord to
a grounded wall outlet. Plug the USB connector (4) to your PC. Use the coil
cable (2) to connect the P9XX wheel to the USB hub. We advise to place the
ferrite bead at the USB hub side (Round cylinder at the end of the coil cable).

1. Indicator light
2. P9XX wheel connector 1,
3. Power adapter connector

4. USB 2.0 cable )
\
\ I

Indicator light out: No USB connection
Indicator light blue: USB connection
Indicator light purple: USB and power connection (ready to operate)

3. Software installation

3.1. SimHub

SimHub can be used to control the LEDs and VoCore display. Download the latest
version of SimHub from https://www.simhubdash.com/download-2/.
Installation instructions may be slightly different depending on the SimHub
software version.

17 | 33



SIMRER

ENGINEERING

3.1.1.Installing SimHub software

Accept the agreement and press “Next”.

@ Setup - SimHub version 9.0.4 — >
License Agreement
Please read the following important information before continuing.

Please read the following License Agreement. You must accept the terms of this agreement before
continuing with the installation.

Make sure to only use official downloads available on https: /fwww.simhubdash. com.

If you downloaded this installer using an unoffical download link, make sure to cancel this install and
download a safe version on https: /fwww. simhubdash.com,

THE LICENSED MATERIALS ARE OFFERED "AS IS,” AMD LICEMSOR GRAMTS AMND LICENSEE RECEIVES NO
WARRANTIES OF ANY KIND, EXPRESS OR. IMPLIED, BY STATUTE, COMMUNICATION OF. CONDUCT WITH
LICEMSEE, OR. OTHERWISE, LICENSOR SPECIFICALLY DISCLAIMS ANY IMPLIED WARRANTIES OF
MERCHANTABILITY, FINESS FOR. A SPECIFIC PURPOSE OR. NOMINFRINGEMENT CONCERMING THE
LICEMSED MATERIALS OR. AMY UPGRADES TO OF. DOCUMENTATION FOR. THE SOFTWARE. WITHOUT
LIMITATION OF THE ABOVE, LICEMSOR GRANTS NO WARRANTY THAT, TO THE EXTENT APPLICABELE,
THE LICENSED MATERIAL IS ERROR-FREE OR WILL OPERATE WITHOUT INTERRUPTION, AND GRANTS
NO WARRANTY REGARDING ITS USE OR THE RESULTS THEREFR.OM INCLUDING, WITHOUT LIMITATION,
ITS CORRECTMESS, ACCURACY OR. RELIABILITY.

@ I accept the agreement
()1 do not accept the agreement

Specify where you want to install the software and press “Next”.

D Setup - SimHub version 9.0.4 — >

Select Destination Location
Where should SimHub be installed?

l EI Setup will install SimHub into the following folder.

To continue, dick Next. If you would like to select a different folder, dick Browse.

Browse...

At least 371,5 MB of free disk space is required.

Page 18 | 33



SIMRER

ENGINEERING

Check all boxes and press “Next”. Make sure the “Download and install USB
displays drivers (Vocore, USBD480, AX206)” box | checked, otherwise the
display won’t work.

etup - SimHub version 9.0, -
@ Setup - SimHub version 8.0.4 b4

Select Additional Tasks
Which additional tasks should be performed?

Select the additional tasks you would like Setup to perform while installing SimHub, then dick Next.

Content

InstallfUpdate default SimHub dashboards and overlays

Firewall exceptions:

Add an exception to the Windows Firewall {required for SimHub mobile access)
Additional shortcuts:

Create a desktop shortout

Dependencies

Install Microsoft \Met and C++ redistribuables

Download and install USE displays drivers (Vocore, USBED480, AX208)

Press “Install”. The installation may take up to 5 minutes.

Q Setup - SimHub version 9.0.4 -

Ready to Install
Setup is now ready to beqin installing SimHub on your computer,

o3,

Click Install to continue with the installation, or dick Back if you want to review or change any settings.

Destination location:
C:VProgram Files (x86)\SimHub

Additional tasks:
Content
Install{Update default SimHub dashboards and overlays
Firewall exceptions:
Add an exception to the Windows Firewall {required for SimHub mobile access)
Additional shortcuts:
Create a desktop shortout
Dependencies
Install Microsoft .Met and C++ redistribuables
Download and install USE displays drivers (Vocore, USBD480, AX206)

Page 19| 33



SIMRER

ENGINEERING

After the installation press “Finish”.

@ Setup - SimHub versicn 9.0.4 -

Completing the SimHub Setup Wizard

Setup has finished installing SimHub on your computer. The application may
be launched by selecting the installed shortouts,

Click Finish to exit Setup.

Launch SimHub

3.1.2.SimHub configuration

Click on “Devices” (1) and “Add device”(2).

SIMHUB - ASSETTO CORSA COMPETIZIONE - GAME DISCONNECTED

@ Devices

]
=
2y
|, ststistes
(@)
2

No devices configured yet !

Add device

Simbub 904 | Status : Licensed | Listening UDP port 5000

Page 20 | 33



SIMRER

ENGINEERING

Click on “Generic Vocore Screen (1) (4”7, 4.3”, 5", 6.8”)” and click “Ok” (2).

SIMHUB - ASSETTO CORSA COMPETIZIONE - GAME DISCONNECTED

M Devices

Your Vocore screen should now display as connected (1). If this is not the case,
we advise you to disconnect the USB cable from your computer and reconnect.
If that doesn’t work, try to reinstall SimHub.

SIMHUB - ASSETTO CORSA COMPETIZIONE - GAME DISCONNECTED

A Devices

w )

m Generic Vocore Screen (47,4.3",5,6.8")

= o)

Ge

Simbuby 004 | Stats : Lcensed | Listensn UDP port 5000

Page 21| 33



SIMRER

ENGINEERING

3.1.3.Loading SimHub profiles

Download the “P9XX SimHub Profiles V1.0” file (or newer version) from our
downloads page. Unzip the file to your hard drive. https://simrep-
engineering.com/pages/downloads

Go to “Dash Studio” (1) and click on “Import Dashboard” (2). Open the directory
where you have extracted the downloaded files and import file “P9XX SimHub
Dash V1.0” (3) (or newer version). SimHub restart may be required.

Dashboards

AVAILABLE DASHBOARDS

SIMHUB DASHSTUDIO

Dashboard import

¢ 2 L E@T =D 3B

N

Go back to the “Devices” (1) tab and select the “P9XX SimHub Dash V1.0” in
the “Main dashboard” (2) dropdown.

SIMHUB - AMERICAN TRUCK SIM DISCONNECTED

-
=
¢
I s
(]
e

Page 22| 33


https://simrep-engineering.com/pages/downloads
https://simrep-engineering.com/pages/downloads

SIMRER

ENGINEERING

Go to the “Arduino” (1) Tab and click on “Profiles manager”( 2).

SIMHUB - ASSETTO CORSA COMPETIZIONE - GAME DISCONNECTED
@ Arduino

RGB Leds | RGB Matrix Screens TM1638

g
3
&

MANAGE YOUR RGB LEDS

_—

-
=
4t
=
@

Click on “Import profile” (1). Open the directory where you have extracted the
downloaded files and import file “P9XX SimHub LEDs profile V1.0” (or newer
version).

SIMHUB - ASSETTO CORSA COMPETIZIONE - GAME DISCONNECTED

AVAILABLE PROFILES

© JEl A o

New profiie

m— -uﬁl—ro -

23|33



SIMRER

ENGINEERING

Go to the “Games” tab (1) , select your game (2) and click “Start Game” (3)

n Truck Simulator

-—'-
h./f"m )
)z b (&) i

AUT nMnHu ISTA

Assetto Corsa

ww
-:--4‘

ocmero sy o

“
SFoiownown ¥ L4820
-~

—
Codemasters Dirt Showdown ‘odemasters F12012

Codemasters 1 22

(Y
W, cora
MARCAS

Codemasters Grid Autasport Codemasters Grid Legends Copa Petrobras de Marcas

Simbub 904 | Status : Licensed 7 ik

Page 24 | 33



SIMRER

ENGINEERING

4. P9XX functions

The P9XX Sim Wheel can be configured in different ways depending on the users
preference. You can open the Windows game controller by typing “joy.cpl” in the
Windows search bar. It allows you to view the actual output of the steering
wheel. Alternatively you can also go to this website:

https://hardwaretester.com/gamepad

#§ Spelbesturingen >

.. Met deze instellingen kunt u de spelbesturingen corfigureren, die op
’-i de computer zijn geinstaleerd.

Genngtalleerde spelbesturingen

Controller Status
P5iX - SimRep Engineering OK

Geavanceerd. .. Eigenschappen

oK

& IMPORTANT NOTE: it only shows up to 31 buttons. The wheel outputs
more, depending on the setting. These buttons cannot be viewed. Of course
the can be used in-game.

25 | 33


https://hardwaretester.com/gamepad

SIMRER

ENGINEERING

4.1. Reset configuration

& IMPORTANT NOTE: When you have installed the wheel for the very first

time, it’s important to reset the wheel using the D-6 combo in order to
calibrate the clutches.

All the settings can be reset to default by pressing the button combo D-6 (4"
button on the left panel and the 6™ button on the right panel). All custom
settings will be lost, including the clutch calibration.

ENGINEERING

SIMREP

4.2. Save configuration

To save your output settings the button combo D-5 needs to be pressed. When
you power off the wheel all your settings will be remembered and are loaded
automatically when you power the wheel back on.

Page 26 | 33



SIMRER

ENGINEERING

4.3. Clutch calibration

To calibrate the clutch you need to hold down the buttons D-4, while these are
pressed you have to press both clutches a couple of times. This way the wheel
will know to range of the clutch. When you release D-4 the clutch is calibrated.

When you want to redo the calibration, you can press the reset combo D-6,
and redo this step.

& IMPORTANT NOTE: We recommend to recalibrate the clutch at least
once a month for optimal accuracy.

SMlmmn

27| 33



MIRE[P

ENGINEERING

Sl

4.4. Single clutch output

For the single clutch there is an output channel for the left clutch and a sperate
output for the right clutch. This can be preferred when you want a simple clutch
setting (left/right clutch with equal bite points ). The left and right clutch can
also be used as a gas and brake pedal in the single clutch output mode.

To set the output (back) to “Single Clutch” press the buttons D-1.

ENGINEERING

_ SIMREP

4.5. Dual clutch output

For a dual clutch output, both clutches output on the same channel. One clutch
will only go to 50% (by default, bite point can be customized) and the other the
full 100% range. This allows you to set one clutch until the point where the car
just started rolling, the other clutch can then go to the complete 100%.

28 | 33



SIMRER

ENGINEERING

To set a dual clutch output the button combo D-2 needs to be pressed.

4.6. Clutch bite point setting

The clutch bite point can only be adjusted when the “Dual clutch output” is
selected.

4.6.1.Right clutch bite point

The bite point of the right clutch (default 50%) can be adjusted by pressing and
holding the button 3 and then using the left rotaries to adjust. You can use the
top rotary (1) for a fast, and the middle rotary (2) for a slower precise
adjustment. Adjustment can be made from 20-100%.

29 | 33



SIMRER

ENGINEERING

4.6.2. Left clutch bite point

The bite point of the left clutch (default 50%) can be adjusted by pressing and
holding the button C and then using the right rotaries to adjust. You can use the
top rotary (3) for a fast, and the middle rotary (4) for a slower precise
adjustment. Adjustment can be made from 20-100%.

ENGINEERING

SIMREP

4.7. Front rotary output

All front rotaries output as an analogue value. The bottom left “MAP” rotary can
be altered from analogue to 12 individual buttons. With this setting, different
functions can be assigned to the 12 settings. When switched to “Individual
buttons”, the rotary will not function as a rotary anymore.

Example: You have assigned 12 functions to the “MAP” rotary. With a normal
rotary, if you want to switch from setting 1 to 8, you will be activating all settings
in between while rotating. With the “Individual buttons” setting, the rotary will
only output the selected number (1-12) when confirmed with button 3.

30| 33



SIMRER

ENGINEERING

To toggle between these outputs the buttons D-3 need to be pressed together.
When you want to switch back, button D needs to be released first. Otherwise
it will not switch back.

SIMREP

ENGINEERING

4.8. Side rotary output

All four side rotaries have an plus and minus output. They are best used for
settings such as brake bias, traction control adjustment and next/previous page
selection.

4.9. Push button assignment

Important to know is that some buttons have dual usage. This means that they
are used for controlling in-game functions, but also for toggling on-wheel
configurations. Button combo D-1 to D-6 should always be avoided in-game, as
these button combinations are reserved for on-wheel configuration. All buttons
can be used in-game, but not pressed simultaneously unless you would like to
activate the settings.

31133



S ||E!\IGMN|E|§E P

Page 32 | 33



SIMRER

ENGINEERING

. Troubleshooting

The P9XX is not visible in the Windows Game controller
o Unplug the USB from your computer and reconnect.
No purple light on the USB hub
o Check the connections to the adapter and a green indicator light
on the adapter.
Can’t calibrate the clutch
o Reset the settings by using the D-6 combo and save the setting by
pressing D5. Now the normal calibration procedure can be
resumed.
The clutch doesn’t go from 0% to 100% properly
o Reset the settings by using the D-6 combo
LEDs are not working
o Make sure you have SimHub running and the device is properly
installed.
Screen is not working

o You are probably missing the Vocore display drivers. Reinstall
SimHub and make sure to check the “Download display drivers”
box before you install.

Having any other trouble? You can email us at info@simrep-engineering.com
or send us a DM on Instagram for technical support.

33|33


mailto:info@simrep-engineering.com
https://www.instagram.com/simrep_engineering

